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4. Why does Lemon Brown say that Greg is "OK for a youngster"? Give information from the
story to support your answer.

ANSWER:

(10 points)

S.  For this question, choose ONE of the thinking skills from the Appendix (N5v)) on page 12
OR any thinking skill studied in class. Use this thinking skill when answering the question.

(10 points for the content of the answer, 5 points for the correct use of the thinking skill)

At the end of the story, why does Greg stop worrying about Lemon Brown? Give information

from the story to support your answer.

Thinking skill I chose:

ANSWER: Lo

(15 points)
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